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Section—I Physics

1. I & ORI 3 9T U TR 6

T 4 femr @ ® ?

What is the colour of sky viewed from
surface of the moon ?

(A) @d/Red (B) ¥irell/Blue

(C) TII/White (D) %rall/Black

. 15 39 BIpd QA arel sradel J9U1 4 20
TN B gI W 5 B IR Al Th
I A1 3, ufiiewr 1 yplr F= 57
An object of 5 cm in size is placed at a
distance of 20 cm from concave mirror

of focal length 15 cm, what is the nature
of the image ?

(A) aR<IfA®, Seel, 991/Real, inverted,
enlarged

(B) arxIfa®s, e, Bicl/Real, erect,
diminished

(C) 9T, S, Bidl/ Virtual, inverted,
diminished

(D) ¥rA, digr, Biel/ Virtual, erect,
diminished

. M D FRM & R V=IR , T

According to Ohm's law V = IR, then

(A) VxR B) IR

1
© Ve

< o ¥, T 20 W B Wi g8
I & AR AN 25 T B BIHH g
P A & | TH A DI BIpd g4
o B

There are two lenses. One is convex of

focal length 20 cm and another is concave
of focal length 25 cm.

D) Vel

What is focal length of the combination ?
(A) 0019 /em  (B) 10094 /em
(€) 109 /em (D) 139 /em

. T fagg uiRue A fagg a9 & R
B B Ty fpan e aren I ¥—

Device used to control the current in an
electric circuit is :

Bl U1-U9-2019

(A) U/ Transformer

(B) diceHiex/ Voltmeter

(C) 91 =A% /Rheostat
(D) TregArIexr/Galvanometer

. UP feT FHRIR-T Bl Feoidl I g

@ foTQ sl & X Y@ Uad 8, T S
________ gl

A person holds newspaper far from his
eyes to read it comfortably, then he has :

(A) #rikrnfag/Cataract

(B) WIRIGY ey /Presbyopia
(C) §X gfteaTd/Hypermetropia
(D) e 3fdea/Myopia

. 200 V@ orgT 9 g€ 5 WRRR fagd

HRT DI T8 B @ 118 400Q & b
yfkRige® bl Mgz BN ?

How many 400 Q resistors are required
to carry 5 A of current connected to 200
Vline ?

(A) 20 ®) 5
© 1 D) 10

. TP fagd &ex B 1 kW SRR 1 3

vy Trer Sarfad s B —

An electric heater is rated at 1 kW. What
is the heat produced per hour ?

(A) 1000 S[et/J

B) 3600 S[1/J

(C) 3600 x 103 S[1/J
(D) 60 /]

. T IfaT YU §IRT U I T AN

To get virtual image of an object by a
concave mirror, the object should be
placed at :

(A) TH BF U/ Centre of the curvature

B) IHA IF AR & HFI B
g4/ Between centre of curvature and
principal focus

(C) J= W™ U/ Principal focus
(D) &= BIF9 3R ga & §d/Between

principal focus and pole

10.

11.

12.

13.

(wf 9= snenfRa)

HET =5 H Y21 B ATl YbreT 6 {31

The amount of light entering the human
eye is controlled by :

(A) TfRat /Pupil

(B) ¥Id Ued/Cornea

(C) 3fte 9ea/Retina

(D) 3@ b gerell/Iris

Tl S B & forg, ga—fazga
S YA SH . B AT T
& AT F B

To work properly,
generators used wind speeds of atleast
about.

(A) 1.5 fEi/=ver/kivh
B) 15 feHi/aver/km/h
(C) 150 fHH/aver/km/h
(D) 1500 ffi/=ver/kivh

T =ere ¥, 5 e 7 1500 A B
SITIRT UG BRI & AR 1500 AT B
are Frper ¥, < fie a1 ¥

In a conductor, 1500 C of charges entre

and 1500 C of charges exit in 5 min, then
current is :

(A) 300 UFPTIR/300 ampere
(B) 5 VPIR/5 ampere

(C) 3™/ Zero

(D) 1 UFPTR/1 ampere

I EdT m=+15% @

If magnificatin m = + 1.5, then

(A) URIfe P SR = 9 &1 3MMDIR,
AR<IfdF® aRifeRa/size of the image
= size of the object, real image

(B) URifes @1 SR > 9 &1 3MMDIR,
AR<IfdF® aRifeRa/size of the image
> size of the object, real image

(C) T F MPR > RIS BT MHIR,
RN URIfeRd/size of the object >
size of the image, virtual image

(D) TG B IMMPR, RIS & PR B
Effﬂ—rﬂ, IR URIfev/size of the

object is twice the size of the image,
virtual image

wind-electric

TR | 1



14.

15.

16.

17.

IS 9 F 9 B IAERAD g%’,ﬁr
STl A B ATRAD 5—

If refractive index of water with respect
.. 4 . .
to air is 3 then refractive index of air

with respect to water is :

3
(A) 4>3 ® 7

4 3
© \/; D) \/;

T fa9os g7 o I iR + 2.5 D
g T ¥, -

Power of the lens suggested by

ophthalmologist is + 2.5 D, then :

(A) f=2.5 I, ITA o¥/cm, convex
lens

(B) f=40 I, 37a<Iel ¥/ cm, concave
lens

(C) f=40 I, SAA &¥9/cm, convex
lens

(D) f=2.5 T, STaTA ol /em, concave
lens

& T 9Ruy R #A, diceiie] &N

RIfE T He 3

In the given circuit diagram, reading in

the voltmeter is :

)
oy

vvvvvvvvvv

=
(A) 12V B) 10V
©) 5V (D) 0.833V

T et TIST e §—
An electric fuse is based on:
(A) TI=[ a)1 & RIS Y91g U/ the

chemical effect of the current

(B) fR[ 91 & RIS YA UR/the

magnetic effect of the current
(C) [ 9} & S YA WR/the
heating eftect of the current

(D) SWRITd ¥ I BIS 778 |/None of the

above

2 | AGRAWAL =XAMCART

18.

19.

20.

21.

T4 vared & I AR, e g sk
[EICRCBRINICZNE 3:48R3:2%
IR T 6V H TP I 4 AR 9 3 &
faega aIsl @1 U B —

Two wires of same material having length
and radii in the ratio 3 : 4 and 3 : 2

respectively, are connected in parallel with
a battery of 6 V, the ratio of current is :

(A) 1:3 ®) 3:1
©) 1:2 D) 2:1
BTl B WfdIeell TR B0 g

U H3 & fol arg=ii &l asalse H.....
LB R

To get powerful parallel beam of light,
headight of vehicles have :

(A) Jaqd o/Concave lens
(B) 8Taeal SUUT/Concave mirror
(C) @ o¥/Convex lens

(D) \HdA SU0T/Plane mirror

g M AR e wfife ot
& foe {59 YR &1 9U1 YA F AR
S B?

What type of mirror is used to get virtual
and erect image always ?

(A) 99IE SUOT/Plane mirror

(B) S9d JUUT/Convex mirror

(C) 81aea =YuT/Concave mirror

(D) (A) 3R (B)IHT I/Both (A) and (B)
v B A H v W e aew
TR R 9 3 faem f1R Bl 2—

The direction of the force on a current

carrying wire placed in a magnetic field
depends on :

(A) IR a1 1 fen o) AfeT &= &
faen W A8 |/ The direction of the
current, but not on the direction of
field

&= & faen W, Afe fagE g
1 faem 9X T2 I/ The direction of

the field, but not on the direction of
the current

e a1 & faen & e &=

H fa=N 9/ The direction of the
current as well as the direction of
field

(D) T3 @ g Al Rem R AR T

&= 6 fawm R/ Neither the direction
of the current nor the direction of
the field

®

©

22.

23.

24.

25.

@ B UoH B AEH q T9d YD D
fagrqur 9 78 urn S %, 6 S A
¥ g & SR o T A g B,
ai—

In dispersion of white light through glass
prism, it is observed that violet colour

bends more and red colour bends less,
then :

(A) I T 6 TS FHA 8/ Wavele-
ngth of all colours same

® }\‘év% = }“W/ }“Violet - }“Red

©) Ay = MnalPred = Miolet

D) FeT T e TR ¥R T8 $<el1/Be
nding does not depend on wavelengh

STl | RIS WU W gl Ub URTel a1y

IR ST & FRIRIYSS IR YR Wit

B B, qe fHaed pRoT 2P

A pencil partially immersed in water

appears to be displaced at the interface
of air and water, this is due to :

(A) fevead UMa & HIR0T/ Tyndall effect

(B) WU & HIRUT/Scattering

(C) fagor & HRoT/dispersion

(D) 919aeH @ BRI/ refraction

FrifeTRRas @1 S7a quf sruaci=e & aad

FH Y FaRe BT |

Arrange following in increasing order of

their absolute refractive index

(A) o, AT, BiF, BT/ Water,
kerosene, glass, diamond

(B) IR, 9, Prd, 81 /Kerosene,
water, glass, diamond

(C) ®ida, AT, Tel, BRI/ Glass,
kerosene, water, diamond

(D) W1, I, DU, BT/ Water, glass,
kerosene, diamond

oI Wl TAfKT, o Pl Bipd g3 4 fob
YHR FEad § 7

How power of the lens is related to focal
length o the lens ?

(A) f 9 Y& FATUTI  Directly
proportional to f

1
®B) 7 ¥ UI& AU/ Directly

1
proportional to ?
©) Jf ¥ Y §ergurll/Directly
proportional to \/7

1
(D) Ia I Y& |ATURI/ Directly

1
proportional to F



26.

27.

28.

29.

30.

IS TS T 99§ RS P AHD D
QI R e S, < AR @ A
Rt T g B 2

If'the units of length and force are doubled

of their existing units, then the increment
in the unit of power will be :

(A) TAT/two times

(B) IR I/four times

(C) ©: TAI1/Six times

(D) PIZURTIT 781 |/Remains unchanged

T JTPIRETT B A B BICHT 102
A 21 A 78 g g Bl A | T Dl
S, Al f1T TQ | Pl PISATT B—

(SreT 1 91t =3 x 108 A/)

The distance order of magnitude of a
milky way is 10%° m. If this distance is
covered with the speed of light, then the
order of magitude of time to cover this
distance will be (speed of light =3 x 108
m/s)

(A) 101°JF08/S  (B) 1014 Je0s/S
(€©) 101°JFvs/S (D) 1017 Jevs/S

Ak T g1 | B9 & aws Al BRI
50.0 I T2 10.0 N A T | Hew
T @ sreqemre 1 RE S | SE A A
foree! =it URglg AT Seem 2

The lengths of two rods measured by a
meter scale are 50.0 cm and 10.0 cm,
respectively. The least count of meter

scale is 1 mm. Which measurement
between two will be more correct ?

(A) Ul AT BI/First mesurement

B) @'@f A9 BI/Second measurement

(C) 1 A9 T ®9 9 URYLH /Both
measurement will be same

(D) YT TR &/ The given question is
not exact

T gRAmT & I iRl 1 gRkom,

T 9 TP B IR B, A 9fel & 9

PIOT BM—

The resultant of two vectors of same

magnitude is equal to the magnitude of

one of the vectors, then the angle between
them is :

(A) 30° (B) 60°
(©) 90° (D) 120°
T &3 NG & oA & qEy

Y ffaiad 5 ¥ PA—-T1 Ho T T8l
37

Which one of the following is not ture
about properties of magnetic field lines ?

31.

32.

33.

34.

(A) 9T ga 9 freerh & ok faof
gd 9 SN 8/ They come out from
North pole and go into South pole
9 g gRue 9N &/ They form

closed loops

o9 ] gES W@ GRn g, A d

URIEE Bl &/ They intersect when

two magnets are kept

(D) I STl RIS &3 ¥ I urd
—OR7 <@ BRI ¥/They are closely

spaced in the region of strong
magnetic field

®

©

Qve-11 WA fasmE=

Section-1I Chemistry

RGN B e W R T TR GF 31fpd
I 3 O B, T S SR EE KD
fere fean e 31

KurKure packet's empty space is filled
with an inert gas, in order to prevent it
from :

(A) TIYT/Reduction

(B) SU™IA/Oxidation

(C) SUFTT-HUFYA/Oxidation-
reduction

(D) S198YuT/Precipitation

VAR agAvSa B 0, B TP |
M P TF ALO; I T | T8 fobam ¥

Aluminium when exposed to O,
atmosphere, formation of Al,O5 is
observed. It is :

(A) W|e&IRUT/Corrosion

(B) ST &F¥MI/Rusting

(C) THsT/Decomposition

(D) AR BT/ rancidity

START HTEH | Il bl T Il
-

Colour of phenolphthalein in acidic

medium.

(A) Tl /Pink

(B) U/ Yellow

(C) &/ Colourless

(D) AR/ Orange

amadt aRvl &1 fadi Swaaw fagga—
FOMEAD < 5—

Second highest electronegative element
in periodic table :

35.

36.

37.

38.

39.

40.

(A) TARA/Fluorine

(B) F@NIF/Chlorine

(C) MfeIST/Oxygen

(D) Iggroi/Nitrogen

ATl BT T H FH T—

The order of effective nuclear charge is :
(A) Li<Na<K<Rb

B) Li>Na>K=>Rb

(C) Li<K<Na<Rb

(D) Li<Rb<K <Na

Vahall 1 SURRT A, U TR & Slalid
—3qEeT BB B—

Hydrolysis of an ester in presence of alkali
is called :

(A) T/ Esterification

(B) WIgFITHRUT/ Saponification

(C) URRRITgA/Substitution

(D) SIS/ Addition

POR S AT B A JB—AS TART 8,
Ig fopadhl SuRerfdy & FRor 87?

Hard water forms scum with soap, due
to the presence of :

(A) CH;COOH (B) NaOH

(C) Ca(OH), (D) CaCl,

& 2, S A e ¥ A8 o
g, 8-

Compound which does not belong to the
homologous series :

(A) CH,O
B) CH ;O

(€) CHgO

(D) C5H50

AR A e & T & BRI
gRafia & T 2|

Colour of Taj Mahal in Agra is changed
due to :

(A) ¥4/Sunlight

(B) 87 a¥i/Acid rain

(C) d1/Slaked lime

(D) H&RUT/Corrosion
ufierd B PR S a9 ugeT B
gl

Antacids are used to remove :
(A) TRR ¥ g&/Body pain
(B) srelrg«l/Acidity

(C) enfRean/Basicity

(D) RiRe</Headache

TR | 3



41.

42,

43.

44.

45.

46.

47.

U B A B dlell 9T 3—

Acid which helps for the digestion is :

(A) WM 8%t/ Amino acid

(B) ESFARS 3 /Hydrochloric
acid

(C) VAIfed 87/ Acetic acid

(D) ¥few 8/ Citric acid

BET B [NEEECES T S=a el i®

-

Allotrope of carbon which posses high

melting point :

(A) TETST/Graphite

(B) TARNIH/Fullerene

(C) F/coke

(D) &1/diamond

T8 Arfirep, Sl ST UR TS el sarell
EGIe

The compound given a sooty flame on

burning :
(A) CHy (B) C3Hg
©) CoHg (D) CoHy

g o1, S T SAffpareier T —

The metal which is highly reactive :

(A) Hg ®) Zn

(C) Pb (D) Al

Tgall o1 sy Rl
fam S | B

Metals can be extracted easily and
economically from :

(A) @fTST/Mineral

(B) arfiias Afres/Metallic compound
(C) 3P /ore

(D) Fcar/rock

CH;COOH + C,H;0H X, CH3CO
OC,Hs + H,0; X ¥ :

CH;COOH + C,H;0H X, CH3CO
OC,Hs + HyO; X is :

(A) H,S0, (B) NaOH

(C) KMnO, (D) Ni

anygfie emad o W) emaRa
Tl

Modern periodic law is based on :

(A) U=HIY] 4IR/atomic mass

(B) YR ¥%&A1/mass number

(C) URHIY] %A /atomic number

(D) saseif1®d  fa=a14/electronic

configuration

4 | AGRAWAL =XAMCART

48.

49.

50.

51.

52.

53.

g @, o gaiy e aeTs -

The element which is electropositive in
nature :

(A) FBY/Sulphur

B) Taferer/Silicon

(C) dIRI/Boron

(D) <id1/Copper

FTNRRM &1 &1 9 ST 5—

Burning of Mg in air is :

(A) Wi® gRac/Physical change

(B) 4rf& gRawi/Chemical change

(C) SR/ Sublimation

(D) SUATT-HTFYA/ Oxidation-
reduction

WRAR 1 IIYAUSAIT STl 3R CO,

& A1 AT DD A ST I&TER0T

-

Reaction of marble with atmospheric

humidity and CO, to foum slaked lime is
an example for :

(A) faare aifdfeRn &1/ Decomposi-
tion reaction.

(B) fawerma af¥fepan &1/ Displacement

reaction.

(C) INTH AT BT/ Combination

reaction.
(D) saaAEg AfHfpa F1/Redox
reaction.
INTH frg aca @ STD Tewe 9
faenfoq &= |Gt B 7

Barium can displace with element from
its sulphate ?

(A) AifeTm/Sodium

(B) dfe=rM/Calcium

(C) vRMfREE/Aluminium
(D) EESIeH/Hydrogen
TIPS B fqereT g—
Dissolution of glucose is :

(A) SR Sfha1/Endothermic rea

ction

(B) SsAadT S7f¥har/Exothermic rect

ion

(C) srgaagay arfYfepan /Redoxreac-
tion

(D) faeemua erf¥fspan/Displacement
reaction

IR 3 IR 2—

Plaster of Paris is :

(A) CaS0,.2H,0

54.

55.

56.

57.

58.

59.

60.

1)) CaSO4%HZO

(C) CaS0,4.5H,0

(D) CaSO4H,0

TAIfed e NaOH & wrer srfrfspan
ISP TP AqUl IR &, ForIee pH B—
Acetic acid reacts with NaOH to produce
a salt, whose pH is :

(A) 79 FH/less than 7

B) 7% IUGR/Equal to 7

(C) 79 31fra/More than 7

(D) 14 & SER/Equal to 14

g U, il Tl el Sraxedl | e U
ST ® L

Metal which is found in its native state :
(A) Pt B) Cu

(C) Fe (D) Ag

TH TR B N Fefl § 7 godg sl
IS S T 18 =G ¥, T T
1 B?

7 Electrons are in N-orbit of an atom and

its nucleus has 18 neutrons. What will be
the mass number ?

(A) 25 ®) 27
(©) 35 (D) 43

THOEIH (Sc = 21) & ST SAFeH D
fore wFarven wwEsl % A Bh—

Value of quantum number for external
electron of scandium (Sc = 21) will be :

(A n=2,1=2 ®B)n=3,/1=3
(C) n=3,1=2 ®)n=2,1=3
/=1 9 & P AR ared R &
JUTAT & HIAT & 7

Which compound does not obey octet
rule ?

(A) PH3 B) H,0

(C) PCl4 (D) PCl;s

a1g & HIEhe $ GA MPO, 3, TN 39
g B YA BM—

Formula of metal phosphate is MPOy,
then formula of its nitrate will be :

(A) MNO; B) My(NO3),
(€©) M(NO3), (D) M(NO3);

we A FH vatel B sg—ag (T1y)
60 fae &1 3 |ve a1e, 39 vaTel 31 fer
gicreTd ¥ Y& Sie?

The half-life (T1,5) of a radioactive
substance is 60 min. after 3 h, how much
percentage will left of this substance ?

(A) 50% B) 75%
(©) 25% D) 12.5%



61.

62.

63.

64.

Qus-111 7o

Section—III Mathematics

T AYTH T =9 Hiforg, o1 12,18,
36 3R 45 9 i fpg S ov g
814,32 AR 41 99 & |

Find the least number which when divided

by 12, 18,36 and 45 leaves 8, 14, 32 and
41 as remainder respectively.

(A) 176 ®) 160

) 178 D) 166
Py o Bl 9 T § B w1 31 Q, P
S 50% 31fore e & | Q B S B Bl
FH A faam faT o ?

P can do a work in 9 days and Q is 50%

more efficient than P. In how many days
can Q do it alone ?

1
®B) 47
© 6 ™3
7 39 YR o el 24 W ST U

B TR B P U fba w6
e X FI JATILIRT T P

1
@A) 137

-2 )

In the making of a right circular cone
whose base radius is 7 cm and altitude is
24 cm. How many area of iron sheet is
required ?

(Take T= 2]
7

(A) 708 I¢/em? (B) 804 ¥HI%/cm?
(C) 704 %/em? (D) 408 FHI%/em?

TS IR e eie 12 390 a7 8l
5 A T 1 S AWE W 39 TR U
(Afeer) foran <ew &, f% smm—ar e &
R 1 Ty & el e g Je
AT ST T, N ST BT AT A &7
A rectangular tin sheet is 12 ¢m long and
5 em wide. It is rolled such that the ends

are joined together to form a cylinder,
then what will be the volume of cylinder ?

@ I3/ em?

A —

B) 120 [/ om?
%

100 [/ om?
%

©

D) 60 T3/ em?
7

65.

66.

67.

68.

69.

T AR I WK A A& S aredt
RIS TR 10% P B I A== <1 2 |
% 650 4o &1 U G, T 500 J& Bl
TS B AR T 65 TR P TS o1 @
qrel e Bl el T Be el ?

A shopkeeper announces a discount of
10% an item purchased from his shop.
If a customer purchased a cooker worth
T 650, a heater worth ¥ 500 and a bag
worth T 65, then how much discount will
be get ?

(A) T 120.50 (B) T 123.50
(C) T 12850 (D)% 121.50
MY H 89 FI <R B IR Al A1 Bl

Y P AMHA 10 a8 qE YA B
ST | BIC 9% 3R 9 A% B MY B
JUIT T B ?

The sum of ages of two brothers will be
doubled after 10 yr. If the difference
between their ages is 8 yr. Then, what is

the ratio of age of younger brother to age
of elder brother ?

(A) 7:11 B)3:7
(€) 8:9 (D) 10:13
T Thel B 30 fRrerel W 60 a9 B 3y

1 Qb 1187 Jari-gel 8 T | b L&A1
TR 30qY B AY & VH A & B
Ry fpan | uRummTERey, Rverent
& T I —

In a school, out of 30 teachers a teacher
whose age is 60 yr get retired. In place of
retired teacher, another teacher whose age

is 30 year appointed. Them, What will
be the new mean age ?

(A) 6 AT ¢ W9HT/Reduced by 6
months

(B) 199 "e Se/Reduced by 1 yr

(C) I B <&M /Same as

(D) 2 a9 "e e /Reduced by 2 yr

e § 1.34 {6 & U WD a3 9
el <IelTs Sk 2 198 4 APUs 1] Mrart
AN & | JITATST Bl AT B Db T &
77

1.34 km apart from Geeta a bullet is fired

from a gun. She heard the sound after 4 s.
Then, what is the velocity of sound ?

(A) 335 /m/s B) 3309/ /m/s
(€©) 3009M/A/m/s (D) 325/ /m/s
v = emafy & faw 10% uiy ad 6

TR T 1800 TR Ahglg <ol T 3783
T H T ST PR

70.

71.

72.

73.

74.

The compound interest for a fixed period
of time on ¥ 1800 at the rate of 10% per
annum is ¥ 378. Then, find the time (in
years).

(A) 28
©) 25

®) 3.0

D) 2.0
2

n

(’\1/’7)5 BT AT R B?

2

Value of (<l/372)E is:

(A) x ®) 3

1
(©) ®) =

(V3) x9% =37 x33 # n'ehl T 3—

If (\/§)5 % 9% =3" x34/3 , then value of
nis:

(A) 4
©) 6

®B)5
D)3

1 1
Iy x4+x—4: 1199, a@r x3fx—3 P

I

s 1 s 1

If x +— =119, then value of X ——
X X

is :
(A) 36 B) - 36
(€) £36 (D) £33
AR 999x + 888y = 1332 30X 888x+ 999y
=5558, @ 2 12 {Paa aaw 37
If 999x + 888y = 1332 and 888x + 999y =
555, then x2 — 32 is equal to :
(A) S ®)7
© 8 D)9
< WAM AABC 3R AMNPH, Ifd AB =
22590, MP =459 IR PN =75
| Y mLACB = mZMNP &%
mZ/ABC = m/MPN &, Al qull BC &
TEE (@ W) e 37

In AABC and A MNP, if AB =2.25 cm,
MP =4.5 cm and PN =7.5 cm, m£ZACB
= m£MNP and m ZABC = m/MPN,
then what is the length (in cm) of side
BC?

(A) 3.75

©) 35

B) 4.75
D) 4.5

TR | 5



75.

76.

77.

78.

79.

80.

% f3T ¢ gHag AABCH D, E, F
FAL: AB, BC 3R AC & 7e1-fag ¥,
1 IgYs BEFD ofa: & 87

In the given equilateral A ABC, D, E and
F are respectively mid-points of sides

AB, BC, and AC, then quadrilateral
BEFD is completely a :

(A) EI"Jf/Square

(B) 3MId/Rectangle

(C) HHH/Trapezium

(D) FT=EIYSI/Rhombus

AC W g &1 Sl 8, o & O 8|
& BAMW AC R PIE g 2 3R LOCA
=20°%, A LABC &1 URomH 1 B ?
AC is a chord of that circle whose centre
is 'O". If B is any point on arc AC and
Z0OCA=20°, then what 1is the
measurement of ZABC ?

(A) 100° B) 40°

(C©) 140° (D) 110°

T qHPIT st & ¢t & ftenas P(3,
4), Q(7, 4) 3R R(3, 8) &, §WHIUT P TR
21 APQR & @19 &5 & friaenas am &7
The vertices of a right angled triangle right
angle at P are P (3,4), Q (7.4) and R(3.8).

Then, what is the coordinates of
orthocentre of APQR ?

A) G4 B 7.4
© 3.3 (D) 5.6)
IF 6 =45°F, W (sec O + cosec 0) FT AN
T B?
When 6 = 45°hen what is the value of
(sec O + cosec 6) ?
A) 342 ®B) 42
©) 22 (D) 542
sin® 0 + cos® O fpad IR B?
sin® O + cos® 0 is equal to.
(A) 1-3 sin? 0 cos? 0
(B) 1-3sinBcosH
(C) 1+3sin2Bcos3? 0
D) 1
cot? A

— fpud NER B?
1+ cosec A

o 1+
cot® A

Expression 1+ ———
P 1+ cosec A

is equal to :

(A) sin A
(C) tan A

(B) cos A
(D) cosec A

6 | AGRAWAL =XAMCART

81.

82.

83.

84.

85.

5 T 3 &1 a8 60° Bl 8, 99
I B Jor 1 | 59 07 g D S
30°8RN 3, S 9T WA oA TR 9
AR & BT 40 W SAf¥F T B B
AR & o8 9T B |

The shadow of a tower standing on a level
plane is found to be 40 m longer when
the sun's elevation is 30° than when it

was 60°, then what is the height of the
tower ?

(A) 109 /m

B) 1043 W/m

(C) 209 /m

D) 20439 /m

e & ffeRad 7 9 Br-1 Jrerdl
feqoT F=d SRR B eI 27

Which of the following is shown a
graphical representation of cumulative
frequency data ?

(A) ma foF/Histogram

B) IRER dg¥ysi/Frequencypoly-gon
(C) ARYT (@iS$a)/Cumulative (ogive)
(D) W§—aré/Pie-Chart

I I GHBIUT A LMN G2 A OPQ 61
Sargdl 48 I T2 36 I B 1A OP =
1239 8, @ LM Brm—

The altitudes of two similar right angled

ALMN and A OPQ are 48 cm and 36 cm,
respectively. If OP=12cm, then LM will
be :

(A) 163 /em (B) 20 ¥¥l/em
(C) 123 /em (D) %W/cm

A TR B A, O B 5, A x [P
IR B7?
In the given figur, O is centre, then x is

equals to :

(A) 45° B) 55°
(€) 65° (D) 60°
A T AMFHRT A, POQ & T 3k PQRS
T b AT 1 A& £ PSR = 130°
T, W L RPQ &I 919 & 87

In the given figure, POQ is a diameter
and PQRS is a cyclic quadrilateral. If

£ PSR = 130°, then value of £ RPQ is.

(A) 40°
() 35°

B) 45°
D) 30°

86. 8x2— 18x + 9 UIRITS BIM—

Factor of 8x2—18x+9Ois:
(A) (4x-3)2x+3)

B) Bx—1Dx-9)

€) (Bx—3)x-3)

D) 2x-3)4x-3)

87. FAHROT x2 — 19x + 10 = 0P a1 &l

B ANTHS FIT B

The equation x> — 19x + 10 = 0, has two
roots, then what is the sum of roots ?

10 19
@A) 19 ® 10
©) 19 D) - 19

88. I T BT x2 — 6Kx + 5= 0 1 Up

qd 5%, A K B A 85—

If one root of the equation x> — 6kx + 5
=01s 5.Then value of k is :

(A) 2 ® 1

1
© -1 O ~3

89. AT o = B = F bZZaciff,\_‘ﬁyEFl

93—

If a* = ' = ¢ and b = ac, then value of y
is

xy xz
A) Yz ®) 2(xfz)
Xz 2xz

© 2(zfx) D) Y2

90. IR (x+3), x2 + kx + 12 P TS YOETS

B, kBl A BR—

If (x+3) is one factor of x% + kx + 12, then
the value of & will be :

(A) 8 ®B) 7
©) 6 K



1. (D) 959 R agHSA T B B BROT
T TBTET Bl YU Tl BIT &, 3T
MBI Hrell faErd < &

2. (A) T & Td=IE (0) =5 T
w=—209, f=— 1591

U1 & A 9,

1 1

v

L S S S
w15 v (=20)

()

1

-20 5

S I=—153.

3. (D) M & ¥ & R, e &
IreF & fog a9 g <9 Rex &, @
TAF > R B AT I
AR (V), 9rerd H Jared gt
(i) & FEIURN BT T
V=iR
& R = Ara® B URRIg

4. B) f; =209, £, = 25 %Al

20 (-25)
11
F 100
ISR F = 100 30

5. (C) 91 T &1 warT UkRig & |99
T gRaee RS g1 Rk e
A fn S 81 SR wedl 9 oA
R faee Ry 7 a1 IR
Al Bl

6. (C) g8 AN 5d Afdd g¥ 61 axge
T G UK S, TAT U D IS
&, S R gfe Y (grguR A
HEd & | 1 39 A9 § IRia afed
B FAER U ol 9 UgH &
fore sl I g <@ U= B

7. (D) A 9 (i) = 5 TRIER

V=200 dIee

Ifs aRuy &1 g uikRig RS, @

V=iR
Rv:X:@:MQ
i 5
AT 400 QF » IR FARR HH H I
g,
L:L+—+ .........
R’ R, 2
1 _n
R' 400
1 _n
40 400
_ 400
" 40
n=10
8. (C) R dex &1 wfed (P)
=1 foaimar
=103 3
T B U B arel S (H)
= 9rfdd « qHg
=103 x 1% 60 % 60
=3600 = 10° 5[
9. (D) AT axg P (ga) TAT £ (BIHA) &
T T, @

A P%\B f\C

uf
v = u—f
(P |u| < |f] T& IR I B, F
v gFI® BRN, TP 3aae ST
@ BIHd U HOTHS Bl |
V> [ul, T8 o AT LB PIS A AN
RGP SIrEl of Fhal &, AT

—v v (S T > )
m= = — = >+1
u u (FOTHS )

(= qen Srafda) v gHS B
R, UH AT, Qe g At
wfifes g

10. (A) gRaRen srerfq e, Weia fean

& AT 9§ AT Dl YTl & Sbe
P12 ¥ 8 firelviier & e 3 uiRafid

H PN & | THD BROT YHIeT I
ffoaa aEn e 9 uder &= Bl
11. (B) If ga= &1 IRT 15 fem/ear &1 @
Ta Rerfer eraRt BRT S e |l
U TRE B T ¥ | $9Y B R
TR Y99 RIaT 8 W& de1 gad
[EERAYIRE SN N IR AR
& B URT |
12. (B) 9% | YaIfRd ATGT (g)
= 1500 A
T () =5 e = 5 < 60
=300 9FTS

1500
R (i) = %:m:wﬁmﬂ
yfafe &1 anerR (1)

TH] H1 MBR (0)

13. (B) amasHom) =

_
W
[
Ol

Ol

=k

N | W
O

3
- 20
=3

ST, TR P SHR > a%g Bl
TP
(P T m gD T, ¥ Ul
ERSICER

14. (B) I & G4 H 91 F1 UKD

1x100
- s R
=40 3.
Lo B e g %, o U8
A o B
16. (C) 9iRue o g UkRIg
R, =2+4+6=12Q
ufRuer § yarfad a1 ()
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A )

"Ry 1 TR
diee WX & U = 6 Q UkRY
& RRI & 9 fawarr

=ix6

:&XG

12
=53

17. (C) faga wgol, faga a1 & Sy
TG IR TR & ¥ | 3

TS g HH BT B
I<T: I GRT 1 A SATD daall
B RIS AfS H I B B
PR fere™ o S 3 0 B
IR0
e T ISRl ST ST+ I =
gl
18. (B) Ue9 & IR,
L L,=3:4
rpiry=3:2

T,
UfRRidl @1 3Tu,

h

Bl_pn#_ﬁgi_z4gf

Rz_pliz_IZ;ﬁlZ_4 3

757'22

X1
R, 3
i iy TAT i, ER: R, TAT R, &
yarfE =g g,

A _6/R Ry 3

“i, 6/R, R, 1
Sodpipa =301

19. (B) arEAl & ¥Slge W Srade YOI
AR fHR0T G YT el & 1 399
9o TUUT & B 95 W BT B,
o feem arel faRol ==
& IS FHER & oIl B

20. (D) SM9RT T e RIS, el <qoT
TS U S A U B b
]

21. (C) wATHT & FRATTEIR v |AT
By &3 A W [l gRard
IqAF OR W g D fSEn, arad
IR gafaa g @ faen @
A1 &5 bl {20 & erra] Bl
]
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22, (C) o1 1 H O S S 17
f¥r BN ¥ 1 98 SR ¥ 5 S
1 7 fygmor et 1 9 Afdre B
¥ e B o S <1 & forw famer
BHI0T &l A e & ferg fage sron
& A9 9 A A T

23. (D) 511 # 31R1% w9 & & TP U,
JUATT B PRUI I VI oA B
SICRIYSS TR TR Wit Bl & 1

24. (M) Bggr ™ Hgig = Mo~ Mot
1
25. (B) i &l 9IfdeT = a0

Pocl
S

L
26. B) P=T xy= —F;L (':V:—j

T T
<1 A2 AR AT B S |
8 =10 Hrex
IGeAa=3 x 1039 /3.
@ 1025

= g T 3x10°

2F <21 4FL
T A = =—=

27. (D)

=333 x 1016
T2 frpeay Hifear 1017 1
28. (A) ~ MR T A 1 mm 1 FfC T9a
=
I UBell WY H ferepad gHfad
_ o1 010
e - 100><100 0.1%

e 3, o5 usell A9 Afde aRgg
Tl

29. (D)

R= \JA>+B?+2ABCos0

A= JA® + A% +2A% Cos 0

= J2A7 (1+Cos0)
TN PR R,
AZ= 2A%(1 +cos )

-1 1
Cos 6= == 0 =cos |- =

2 2
0 =120°
30. (C) GBI a1 WV UH-gaX Bl
R 18w E

31. (B) TRIRX & Yare W < U1 Bl SUFTA
NIEERC ARSIV )

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

R NS S D R AR R |
q @ verel | g T8 e g,
qoT e WY S <& B

(A) Al a1 0, D TS T 3 IR
ALO; ST 2
4Al + 30, —> 2A1,0,
afx arf¥fopar FanoT a6 SRl B |

(A) BT S qaD A=A T
S Aie H TR 99l ey
A A T < S

(C) armae IRU § TR (F) atfere
g #onee T<a 2| 3P dI”
SRS 1 =2 T

(B) YT ATTHDRT STl BT B d—
Li>Na>k>Rb
& %2 1P IRA] PHIG g W)
PSR AT T YA SGa B

(B) gRI (Yadel) & Ul § TR
FT AT FUEICA AIATHIUI
HEART

(D) FSR 9T § Mg Ca® @907 BT & |
YT BieerH FAIRIZS (CaCl,) Bl
IURART H FIR oA & A1 T8 HA
AT B

B) FEfTF ARE S FUIHA 9
fpaTcHe THEl & WA B a9
Wl & S CH, &1 3o 89 T)
At S Aol Foki S wearn
]

C,H,0 39 2o & wafere 78 ¥l

(B) IR ¥R ¥ Req drowee & 3T
3 a9t & HIROT URafia & a1 B

(B) 3IRIT B HH B vy UfIsEA
(Antacids) 9ga<d B EI

(B) JHRH H ST BRIFANRD I
(HCD) ura H 988 aall &

(D) BRT BT &1 AOBY T, oregem
TAIE Sod Bl & | 39 rfiRe
BT T FERA A BET P AIRBY
gl

(C) C,H, T A g, Sl wTer R el
AT &l B |

(D) ST (Al srdd afdfepameia
urg 1

(C) argall o frspuvr 9 Rl |
P I B Rl W Argell &
frspeor 31 g Fedt B

(A) CH;COOH + C,H,0H %% |
CH,COOC,H; + H,0




47.

48.
49.

50.

51.

52.

53.

54.

55.

56.

57.

58.
61.

62.

(C) sngfie smmact fm Tl &1 I
AT (D) UR AR 8, S
IRMAT 3Mad W I=RH] R )
aTRa o |

(C) IR & Uiy fagd & 1

(B) HFRRM @1 T4 A STA I4aAG
gRads &, wEfE e @ 9% |
FEa W aRaT ¥

(C) GTHR WMeH® srfvfepar &
AGHTSAR STl T CO, B W1
Jrfifopan P& A1 ST B

(A) IR, Aifesd o1 S9» dche 9
faeenfg &= 3|

(©) BN B faered su=giu=y
aif¥fopar 31

(B) WX (e URY 1 331 CaSO,. ;

H,0 %1

(B) Whfes a1 (CH;COOH), NaOH
¥ frar sxo wifsza vdice
(CH;COONa) ATl &, fSrrer pH
A 7 8T B

CH;COOH + NaOH — CH,CO —
ONa + H,0

(C) Tral (Fe) T8 91 B, Sil Fel ora=e
T U SIRA B
D)UY A FA ¢ =2+8+8+7
=25 =YefAl o T
ST B q=> =25
S = :p+3€fw + B
T = 25 + 18 = 43,
(C) THU<TT (Sc = 21) B 91T soldalT
218¢ = 18% 252 26 352 3,6 452,
3d!
n=3,I-n-1=3-1=2
(D) 59. (D) 60. (D)
(A) T2 HratR = 4
(12-8-18-14-36-32
=45 -41)
e @ = a9 Y. (12, 18, 36,
45) — TR
=180 -4
=176
(C) P,V 1 o Bl & = 9 fae H,
Q. P¥ 50% 2Afe wem |
. QOE B B — 9%
150

-2 R

63. (C) vig & frfe g, TRIFNR,
1= i+ o e A23060
(24)2+(7)2 - A 30
= [J576+49 30
= @ZZScm — %7
ST wol geSt &bt T WM =ME—1 (G960 R)
=nr(l+r) L W Mg 1 Y He S |
» 68. (A) U =1-34 &A1
:7><7(25+7) — 1340 Grex
=22%32 e\
:7O4cm2 mﬁiﬁﬁmmﬂ:ﬁ
64. (A) AT feq e o 9a7 #
gRaRiT T R, —$_335f-ﬁ/®r
Yo B ST,
h=5cm 69. (D) CI= P{(H_Ljn_l}
A9 B YR I TR, ) 100
2mr=12
378 K 10 j }
6 22 o1+ —] -1
=2 em 1800 100

T

AT B AT =72 h 378 1 (11)
1800 10
2178__(11)"
1800 \10
211y
100 \10

= (1) (%

TXx6x6x5 180 4
— = —om
TX T n

65. (D) a3 P Fal IAlbd Yoo
=650 + 500 + 65
=% 1215
2% = 10%

10
e ge = 1215 10 =% 121.50

AT n=278
66. (B) I, BIC TS &I a1 = x I§
= n/2 2
R A oy - © {[,\1/;2} }
TR,
x+10)+ @ +8+10)=(x+x+8) )
v - [x];x—x27x2
= 2x+28=4x+ 16 S
- 1 71. B) (V3) x92 = 3"x3\3
= xZGETEf 1+l
- x+8=147T5 = (37«3t =3"x3 2
A U = 6: 14 3:7 (é“‘j (mgj
32 =3 2
67. (B) 9@ fafy <, =
AT 30 Rl 1 HaT oY = AT - B3
. URAIER, 2 2
10
e = B (D) = n="5=5

30
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1
72. (C) X' +— =119

1
YAz =121 — 11
X
2
(xflj :x2+—272
X X
1
xf—:\@:ig

x 7%: (xflf +3(xflj
X X X
= (&3P +3(x3)
=+27+9W+36
73. (B) 999x + 888y— 1332
1119 99 39 R,
9x+8y=12 (D
3R 888x + 999y = 555
1119 99 39 R,
8x+9y=15 (i)
T @) + (1) 9,
17@x+y) =17 A x+y=1 . (i)
. D) - H
x—y=17 (V)

@) ()
=1x7=17

74. (A) - AABC T A MNP 950 §1

AB _ BC
MP NP
~ ABxNP
= Y
| 225x75
- ==

75. (D) * AABC & W¥EIE A%, 3R D, E
T F eI AB, BC T CAD A fog

=
A
D F
B E C
DF = BE el DF || BE 0
T UPKR,
EF = DB qer EF || DB (i)
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. ) T (D)9,
OBEFD U& |9agys arm|
76. (D) £ AOC = 180°— (L ACO+ £ OAC)
=180°— (20° +20°)
=140°

~ ABC = %XQﬁﬂ?ﬁLAOC

1
= —x(360°-140°
N )

1 x 220°
2

=110°
77. (A) YEANR,
APQRY / PIH®BIU B &: £ P,
APQR & THd< T I 39S
fcen® = (3, 4)
78. (C) Q =45° (91T B)
sec O + cosec O

= sec 45° + cosec 45°

=2+2=202

79. (A) sin® 6 + cos® 6
= (sin? B + (cos? B
= (sin? O + cos? 0) (sin* O + cos* 6 —
sin 0 - cos? 0)
= (sin? 0 + cos® 0)2 — 2 sin? 6 cos? O
— sin% 0 cos? O
[+ sin20 + cos? 0 =1]
=1-3sin* 6 cos? 0

1+ cot? A
80. (D) 1+ cosec A
cosec’ A -1

=l+—
(cosec A +1)

1+ (cosecA 71) (cosecA + 1)
(cosecA +l)

=1+cosecA—1
= cosec A

81. (D) 99Ul AABD H,

h
tan 60° = —
x

= h=3x (D

PR

30° 60°
C 40 D X
HHET A ABC ¥,
h

tan 30° = 40 + %

1
B o 40+x
= 3x=40+x
40
= x=— =209
2
S HAR B O, AB =4
= J3x
= 203 AR

82. (C) ARUT 9% (Ogive)
83. (A) ~* ALMN ~ A DPQ

N 1M
Q0 opP
N
48
I3 = M
Q
36
o) 2 P
NL xOP
= LM= 7QO
48x12
36
=16 cm

84. (B) v SQ, I & 4 T
A PQS, T THPI YT 2R |
ZS+ZP+2Q=180°
Z8=180°—(LP+ £ Q)
ZS=180°—(90 + 35)
£ S =180°-125°=55°



T & gEEUS H S DU IRER
RER BN B
Z PRQ= 2 PSQ
x=55°
=(2x-3)@x-3)
85. (A) LS+ £ Q=180°
(T O & THE Pl
Z Q=180°-130°
Z£Q=50°
PQ, T & &9 T
A PQR, 3101 19T BT |
ZRPQ=180°— (L P+ 2 Q)
= 180°— (90° + 50°)
= 180°— 140° = 40°
86. (D) 8x*—18x+9
=82 12x—6x+9
=4x(2x —3) - 3(2x—3)
=(2x-3)@x-3)

87. (C) x¥2—-19x+10=0

2 Hedl B ATH
L U
A wIIE 1 -
88. (B) x2—6kx+5=0
SURIF T FHIeR0T Bl Uh ol

5%, 79 x =5 W,
(GY—6k(5)+5=0

= 5-6k+1=0 (GI U W)
= 6k=6aq k=1
89. D)a*=b ==k (H1)

a= (k)l/x, b= (k)l/y, c= (k)l/z
b= ac

1

1
R oy~ (k7

90.

1
+ -
z

1
=k

2 1 1
= —=—*=
y x oz
2 z4x
- =z
y Xz
2zx
= YT x+z

B) v (x+3),xr+kx+ 12 B TH
UTEUE 3 |

L x+3=03 x= 3N H G
R,
(3P +k3)+12=0

a1, 9-3k+12=0
a1, 3k=21
a1, k=7

TR | 11



N
1. o {50 9% & ghg B HI D OIRA B,

A B qY—

(A) Td 9T B @R v Rex &1 =
)
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I WS AR B OANA R

¢ | 39@ URRIg Bem—

(A) 40 3 (B) 20 3

(C) 103 (D) 80 3l
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(A) 1:2 B)2:1
(C) 1:4 D) 4:1
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U BRI—

(A) 1:1 B)1:2

€) 2:1 D) 4:1
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(A) WX (B) 9A
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(A) <ra (B) Mraa

(C) P& (D) STed
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IME
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(D) ST 9 9 BIE T

8.

10.

11.

12.

13.

14.

Yfreqg A - 1

fr=faReaa 7 & fea aRRerfy 7 faga

gR S~ BN ?

(A) U griab Bl B el Husell &
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